
Les aires.

Exercice

Calculer l'aire de la figure suivante:
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Les aires.

Correction     :  

Aire figure=Airecarré ABCD+Aire rectangle DCPE+Aire demi−disque+Airetriangle EGF+Airetriangle rectangle CPG

Aire carré ABCD=côté×côté  Aire rectangle DCPE=Longueur×largeur

       =2×2  =4×2

        =      =  

Aire disque=π×R×R  Aire demi−disque=Airedisque÷2

  =π×2×2             ≈12,46÷2       

  =4×π ≈6,28

  ≈4×3,14      ≈  

              ≈  

Aire triangleEGF=
côté×hauteur associee

2
Aire trianglerectangle CPG=

PC×PG
2

        =
EG×SF

2
       =

4×2
2

        =
4×2

2
             =  

           =  

L'aire de la figure est environ 4+8+6,28+4+4=26,28cm².
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